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T BReS s mame® ©ioh, OMR wme s@is® abgals drse: e\ (g S0,
SECTION - A : MATHEMATICS (63 =°Q930)
1

I sum and product of zero's of a Quadratic polynomial arc 1. 1 respectively. then its
corresponding quadratic polynomial is

08 D6 LdTVHd Ay drarge o WA ArIrge 00 KOV 1,1 ®and, ¢ &Y 2THE D6 ?

/ ‘ A
K vl (2) 2 4x+l (3) »4x-2 () a0
2 I the ¢quation v +3)y =10, the value of y is *4". then the value of x will be
L34 10 D860 1 @) Jend 4 eand, X Jend
(R (2) 2 (3) 4 (4) 5
3 \/; + ‘/; is an irratioial number, where p. ¢ are
(1) I'ven numbers (2) Prime numbers
(3 Rational numbers (4) None

\/—/" + ﬁ 670 domg ©A®, P. ¢ e
(1) &b domgen (2) b Rdosgen
(3) ©sBan Hdowgen (4) & s
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Which o the following is trye 9
(808 et A8 Nego ?

(1) d=0 (2) }?(¢):0 (3) ¢={O} Mz@)'):o
: = lab e q } then number of subsets of 4 are
.':{(l_ h_ C. (l}@w;ﬁ,Aéj ﬁe) &JVQ é)e) "ma')g .
(1 2) 12 9/]6 4) 20
6 Fhe pair of €quations 3x+4y =k and 9x+12y=6 has infinitely many solutions if k=
MRSk S0y 9y 2y =6 REere o, ORVOED Feen $OA Gomd wd 4 —
(h 3 2 3) 6 4) s
7 The base of common logarithm is
RODELPTO (Doredi Slaulele
(1) 2 (2) 5 (3) 10 A1
- : . . 3 S5 he follow
8 I'he pair of equations XT3 Y=7, 9x—10y=12, represents the following
(1) Parallel lines 5 No solution
(3) Infinitely many solutions 4) One solution
3 X+ 2 V=T7.9x-10y=12 By D ESeTe 28, (808 oA Ao,
B 3 - “
(1) Saross Swen (2) s B
(3) ©H08Dd dcSdenotron (4) J38 >3
9 It the given lines 2x+ky =1 and 3x=5y=17 are parallel, then the value of k is
dx+ kv =1 &8any 3y Sy=7 en Sbroess 6&)&» ®OD, k Jend
' 10
10 10
(1) 7 T (3) -13 =
I
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10

11

12

13

14

['he zero's of i
of a quadratic polynomial 4y? +8y are

41748y 8 2smone Sy, rangen
1) 0. 4 .

M (2) 0,2 3) 0. 8 @ 0,2
If the equation ax? —8x+4 = 0 has equal roots then a=

2 o o
ax” —8x+4=0 &Sm0 Qg dareren HAPSHS 'a ' Jewd

(1) 2 (@) 3 (3) 4 4) 5
; a b ¢
I a = b, ¢§, then the lines are
£1) Unique solution (2) Coincident
(3) Infinitely many solutions (4) No solutions
a_b e
. = b, C ®oNY, e'éa?e»
(1) 988 resb $0A doeran () o8garon
(3) ovodRHd e EOA Gotrow (4) s Beod

The number M is a |
(1) Natural number _ (2) Rational number
(3) Integer ¥ Irrational number

"TT '0d0 &8

(1) ez Hodg ’(2) o888 dowg
(3) &rg dowg (4) 8o Homg
F of any two numbers is equal to ‘1’ then those numbers are called as
Prime numbers '

(4) Rational numbers

If the H.C
(1) Coprime numbers
(3) Irrational numbers
Botk Sopge Gy K. 1" @owd, & BOK VOGO ....... WO
(2) oD dopgen

(1) £6038 B Howge?
(4) 88300 dowgen

(3) 86eBans ompgen
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IS The value of log 51250 18

-

02450 1250 @08y Q0D
(1) 0 ) 1 3) 2 4 3

i

16 How many two-digit numbers are divisible by 3 ?

3 8 arAosed Boose dogen ), ?
o 30 2) 35 (3) 40 (4) 45

17 In an A.P. if the first term is 4 and 9t term is 20 then 15t term is
2% @oé[eﬁé cﬁpé&_ R0¢5E3 Hesd 4 B0 9 D HeSHL 20 @ond 15 H HSH0 o ?
(1) 16 £) 32 (3) 18 (4) 36

18  The pair of equations x=0 and x=35 has

(1) Unique solution (2) Infinitely many solutions

(3) Two solutions ¢ No solution

x=0 Do x=15ed HRESEre 28 DA Got Jcden

(1) 238 e 5OA doeran (2) o%odDHd FeHen $OA dotran
(3) Boch v EOA dotraw (4) denHod3 Jcsden EOA &t

19 The degree of a quadratic equation ax?+bx+c=0, g#0 is
ax’ +bx+c = 0, a#0 38 BvEGeasn Boo&y. HOLreadn
(1) 1 (22 3) 3 (4) 4

A Sy M

KR
20  The distance between the points (2, 3) and (4, 1) is
(2, 3) ©Baw (4, 1) Hochrpe DG SrEHn Jod ?

(1) 2 2) 2 3 @) 25
- e . . 3n . " )
21 The slope of the line which makes va angle with the positive direction of x-axis is

X-0Z08 w8 it KL 800 Fatn B aren Jdod ?
(1) -1 0 (3) 1 (4) 2
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[ o Bare the roote of
s of a qu: . i
Quadratic equation ax’+bx+c=0, a#0 then 02 +p2 =

a’ +hx+c =0, S
a#() sl 2D 8eany QAo Jreren o, B ew eond, o? +Bz =

IR
1 g7l (2
(2) b—za -2hc).

2 —]—(//72 + 20 )
(3) 2 ac) w/_g(bz —2ac)
a

The s . ¢« .
I'he sum of first *»* natura] humbers i

BSE N des RoPee Tk

_n(l=n) 2 2
(3) z}’l— 5 (4) ann (}14+])
The sum of 10 terms of A.P. : 2, 7 12,00, is
2, Ty 125 .ssonc ®@0¥EHS* 10 Hore Idin Jod ?
(1) 340 (2) 345 (3) 240 5/) 245

[f a quadratic equation 2x2 + kx+3=0 have two equal roots then k=

232 +kx+3=0 250 Eeoiiny By Dreren HIrHTO k =

(1) +642 2) +2483 21245 4) +£342

. . 2 _
The roots of a quadratic equation x ~3x-10=0 are

2 _3x-10=0 :;g&édwaﬁ» BoEy Wrered P
(1) =5.2 (2) 5.2 72,5 4) -2, -5
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27

//—

28

29

30

. 2 ~ _: _ " — ) 15
I'he sum of roots of a quadratic equation 3x= —7x+11=(

307 = Tx+11=0 36 $Ecmin By Drero B

/ 3 3
77 L (3) = 4 -3
a) 3 (2) —3 27 7
Which vessel shown in the below figure can hold more water ?
D
4 cm - I em
— | —
I cm 4 cm
() A @B
(3) same in A and B (4) Not decided
(B0cS el D (8, oy N3 KOA ok Kexh ?
O -
“ ] 0.qD. /
N v ;,r"\f'
1 20.Qv. 4 20.9. N
() A (2) B
(3) A D8 BS® 58r9 05mmin (4) owousSiw

The curved surface area of a cylinder is 264 m? and its volume is 924 m3 then height
of the cylinder is

(1) 3 m (2) 8 m /(,3()/6 m (4) 4 m

28 Krisiny @Y Ysso Brrogin 264 $.5. R0 F03 HBRready 924 1 8. BN, & JrH
24

(1) 3 5. (2) 8 &. (3) 6 . 4) 4 5.

The radii of two cylinders are in the ratio 2 : 3 and their heights are in the ratio 5 - 3
then the ratio of their volumes are

Bock m@w) aogzbvo*’e) S8 2 1 3 H8a%0 a0e3 %0 RS 51 3 wand, e D HOEreTee R

/m 20 : 27 (2) 40: 50 (3) 20:30 4) 50:30
"5 ~SPACE FOR ROUGH WORK / 9 528 Seravosnds ST
> (€ Q_\“ 3
v ,.\ e o ‘ P ’“\"
H) > - '.”\ 3
N \ ; Ny
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1

33

4

35

36

LA S Sy MEVAIMCS LUe llne Segment iOiI‘lil’lQ the points A ('\—l‘ -"l | alla D \.\2. _\': )

internally in the ratio m, tmy then P(x, y)=

AI("'l'yl) L8050 B(xz,yz) DooHeos Ay By woa) M 1M &)a’nage’i‘ woddorr

D580t DotvY) P(x, y) &‘Dé&- rdseen

Xn — MHX - ‘

0 ¥y TN MYy m My MyXy +mpXy Yy Y
my —my m; —m, (2) m—my = my =

R I i WL P 21 mxy ~hyXy My, Ty

The radius of the sphere is increased by 100% then the volume of the resultant sphere
is increased by

28 RS Bgy, TgrGin 100% oD, D8 Feino Gosy, 3 Hodroin Jod 2D ?
(1) 200% (2) 700% (3) 500% (# 900%

[f the radius of a sphere is '2r' then the volume will be

R0 By argrdin 121" eand, ood i H0hrnin

4 3 3 8 3 323
(1) I 2) 4nr (3) Tk 4) 3

A ABC ~A POR; £ P=60°. £Q=75° then ZA=

A ABC ~A POR; £P=60°, £LQ=T75°00ws, LA=___ , |
(1) 90° (2) 75° (3) 40° }9’)/ 60°

The mid-point of the line segment joining the points (2, 7) and (12, -7) is
(2. 7) ®daxw (12, =7) DothHos 8k Terpodin By HEg Do Jrdsren ?
(1) (-7, 0) L2 (7. 0) (3) (0, -7) 4) (0, 7)

The centroid of a triangle is (4, 1) and two vertices are (2, 3) and (7, 6) then the third

vertex 1is
28 |Babes rehesg Solesino (4, 1) ©8axw @ Bok %goen (2, 3) 2803 (7, 6) wowd, Hiresd 3Go
(1) 3, 6) (2) (3, 6) (3) (-3, -6) 4) (3,-6)
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37

39

J FAAAN A - WA d\l )\
- . ugh Lic pr i S
le between the tangent and radius drawn throug
The angle betwe

538 6367 Bochip 3¢5 TgTrg08, H8 oRe Bag ;j/s - (4) 80°
(1) 100° (2) 70° 90

. av from the centre of a ¢y,
Calculate the length of tangent from a point 15 cm away T .

of radius 9 cm. 4 10 cm
(1) 11 ecm (2) 9 cm /(})/12 cm (

DoY) SN, wq,.«
9 0.5, FgrGHVT o H)ErdB, oD Solditn ©od 15 Ro.D. BrENS® 88 D) o

& Do) o HYEPA8 Aadd 0)800 FPEHD SFA"HS ? 0 s
(1) 11 20.5. (2) 9 0.. (3) 12 20.D. (4) R0.eD.
In the below figure ARST ~ A RBA then the value of x is

(808 00 08 ARST ~ A RBA wowd, X Jend

(1) 12 (2) 24 (3) 10 %18

In the below figure A POR~ A ABC. then z+y=
(808 2350 08 A POR ~ A ABC o, z+ y =

LA

_—

—_—

P A 'S
3 N Z
30°N.
0 y R B
(1) 14345 (2) 94,5




RP and RQ are th
41 € tWo tangents to the circle with centre *O’ and ZPOQ =110° then
/PRO=__
O So|&sHore &
ER0" 0 3)ed8  RP S0am0 RO 50 oySydmer @Bt £ POQ = 110° wows,
/ PRO = ~
P
) R
0
(1) 70° (2) 90° (3) 350 (4) 100°

42 A circle touches the sides of a quadnlateral ABCD at points P, Q, R and S then which
of the following is true ?

28 $)800 ABCD $&8y2rd) P, Q. R ©8ak S Dothipe i @85, (808 o° b 1giwo ?

R__C ,
D
S 19
Y
P B
(1) AB+CD=AD+ BC (Q(AB+CD>AD+B(
(3) AB+CD< AD+BC (4;) AB+ BC = AD+ DC

43 From the below figure the value of 'x'=

1808 Hodw od 'x' e0d

A | D
* .
2 ' 12
4 C -
BV e -
(1) 11 (2) 12.83° A3 14 4) 25
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nen e valde O 45 ¢
i - ; = and OP L AB 1
44 In the below figure OB=13cm; OP =12cm 1 o 15 dens

(808 DHéxin ©08 OB =13 0.2.; OP =12 0.2, Hdaw OP

(i) 5 cm(?0..) (2) 100 cm(0..) (3) 10 cm(o.)  (4) 75 cm(o..)

45 From the below figure the value of 'x'=
(Bod 6% 08 'x' Dewd
A

2022 n

X
B

(1) 2021 cm (0.5 @7 2022 cm (o)
(3) 2220 cm (0.5 (4) 2020 cm (0.5

46 The median of —4, 6, -5, 3. 0, 5 and 11 is
—4, -6, -5, 3,0, 5 a5 11 © Degrdo

(1) —4 2) -6 3) 3 50

47  Average of 11 numbers is 10.5; If one of the number 9 js deleted, then the average of
the remaining numbers is

lléoapge) o0 10.5. 2.8 Dopg 9 FoRoDD, DADS Qopge) HoeHd
(1) 10.1 (2) 10.5 (3) 9.5 , (4) 10.65




robabilin. . Plack by S ‘6’
the pr obability of Clting req | " red balls. If one by 1s drawn at random, thep,
28 JoDS® °4° PPy ‘s
) Baxyy 6 ga) a)OéJQ)J s
OB Ko éo%ﬁégé o » OD). 28 23089 A Sy Sorr Bogre OB A 2308
S
(1 3 ) 3 1
5 3) 1 L
(3) @)
0 It mode = 29 mean = 3 then median =
TENFE = 29, 20sew = 39 PO, Weserso
(1) 29.5 (2) 30
(3) 30.5 (4) 31
; th 5 '
1 In the right angle A ABC, , B=90° tan ¢ =% then the length of hypotenuse is
&8 ©ou8n |@abeso A ABC,&* 4, p_ 90°, tan C :% BT, & (Babe $880 ) dow?
(1) 16 (2) 13 (3) 21 (4) 17
2 If tan(A—B)=%, cosA:% then 4B=..
tan(A—B)z%, cosA=% ®OY, L B =
21 T ‘ r g
(1) =3 (2) y (3) 6 9"' 3
3 I 4=45°, B=60°, then sin 4+ 60§ 3
A=45° B=60° @on, sin 4+ cos B Jensd Jos 2
2+2 2+42
2 2+2 4
(1) 2‘;2[ (2) = YR Y-
4 The length of the shadow of a vertical pole is /3 times its original length. The angle
Aot he sun is -
of elevation to the V338 @owd, g8 @ e85 Sox 8¢S eatny ?
8 %6 ;Dd;)dox) Qe TEY, © G5 TEYD |3 m '600, (4) 90° )
(1) 300 - (2) 45° a |
\
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th the clevation 6o

ground wi
0 2r® 60° Sy,

te string flying at 100 m above the

Find lengh of8 © bty D& HptoRyd, I8 S50 T

55
28 mOILo aﬁ)"&b?ﬁ)O& 100
Saws), ot FEH 208 ? - 55
20 g @) 5
100 A 3
I @) AR
M A B )
56 If sin9=c056(0<9<90°) then tan6 = : |
sinf=cosB (0<B< 9(0°) eowd, tanO = 1 |
2 (
(1) -1 (2) 4 (3)
57 The value of _ e g
\/1+tan20t
tan o Do
\/1+tan2a
(1) cosa ,(Zf sino (3) coseco. (4) seca
58 The tops of two poles are of height 20 m and 14 m are connected by a wire. If th

wire makes an angle 30° with the horizontal, then the length of the wire is
(1) 11 m (2) 12 m (3) 13 m (4) 10 m
20 . 80 14 . e Ko Both Hoare §°90) B h & LOF . © oot §de Haross Ta& 30

EPeosn B, ¥ &% By P& Jod ?

(1) 11 %. (2) 12 %. (3) 13 . (4) 10 3.
59 Identify the correct statgment -

(1) P(E)=-1 2) P(E)>1 (3) 0<P(E)<I (4) None

81 (800 Te3S° O (HdeSSw -

(1) P(E)=-1 (2) P(E)21 (3) 0<P(E)<I (4) 8 =%

. 1
60 If sm(A—B)=5 and cos(A+B)=% then £4, /B=9

. 1
sm(A—B)=§ 2da cos(A+B):% ®oNd, LA, /B=9
(f 450, 15° (2) 15°, 450 (3) 45°, 300 (4) 300, 15°

POI VOIT Y"N\HAD D1



SECTION — B : PHYSICS (788 #20)

which of the following is the equation for given circuit as per Kirchoff's loop law ?

86 5 @D Jobdn BTSN A6 Hoaxrds B EGH0 IO ?
30

| % 4 12=0
_ _ 31-12=
Q) 31x12=1  3)731x12=0 (4)
in the circuit given below, if the equivalent resistance is 10 Q, find the value of R.

Bocs mibgaIdd Hea0S® PO "G Jewid 102 G, R dewd Eofodw.

4€Q
R Q

—AAAN—

12Q

|
+|F
Vv
(1) 8Q (2) 16Q (3) 7Q | M

1 In series connection of resistors, if one of the resistors breaks down, then
17 circuit is open and no current flows in the circuit

(3) current increases in other resistors

(3) current remains the same in other resistors

(4) current decreases in other resistors a little
Waron B sOHpE JPT &8 P NV
(1) Seoopo Bhid, $0N0S° DB Y9I TR NS00
(2) DAds afgred Abgd g Bhh&0S

(3) DADS DESEred® Dgd YT Ta0 @08 &0twod

(4) ADS Hred® Abgd T O S &00

\
CPA(C}-

B, o POSHL

COR ROUGH WORK / 9d) 398 Seranouseds Hed



" fuse 1 circult prevents 1ot
64  Usage of fuse 1n a circul _—
(1) Power cut (2) Overload }3) Short circut

28 doonos® Hrgd Hin)ow SPard&0B. | /
(1) dhgd s°s (2) 4%6 &6 (3) B 6rpge (4) 3R s°ed ‘

(4) None of the above

65 A bulb is marked 60 W and 240 V. Find the resistance in the bulb.
a8 2e0) 60 W 80w 240 V o H80s0d%6. aaen?)é“’&) BP5EHD o ?

(1) 400 (2) 1800 37 9600 4) 60Q

66 The magnification of a concave lens is always
(I) equal to one  (2) less than one (3) greater than one (4) none of the above

YEPSE SOEH By, Wit i |
(1) 2838 Somstns (2) ases €08 035 (3) adS goB dyd  (4) IV =P

67 Angle of vision of a healthy adult human is
&9556550&)20 Sy oo
(1) 10° 52’) 60° (3) 90° (4) 40°

68 In an eye, muscular diaphragm between aqueous humour and the lens ig called

(1) Iris (2) Pupil (3) Retina “) Cornea
036", JF6E (508 Eerse28 D3 0B LoBETED & WO Benessy
(1) % o (2) g (3) B (4) s6yatr

69  Which of the following is true in case of a concave lens 9
(1) Erect and virtyg image (2) Inverted ang virtual image
/Zf Erect and real image | (4) Inverted ang real image
YErs™6 ELT™IB 2022000 & (808 e Ha O@oe ? |

(1) 3 dengy HH8as g (8oarsny (2) doBochen BB, WES (B0

(3) M dew) 2B Jes ESERANY (4) SoBothen LBt es LS EATERNN
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70 I“Ol' a COfwex lens magnification of virtual image is possible only when the object
distance is

(1) equal to F (2) greater than F
(3) less than F (4) none of the above

0277578 L8R Hod o Srstn et HOHD GoDEIPE WEeg (B0 BBERW Bochod ?
(1) egos80H%H B et (2) weasgossin Kol Iy
(3) Sregosssn sod L% (4) b o

71 What is the focal length of a plano-convex lens if ‘R’ is the radius of curvature and
'n’ is the refractive index ?

Do Hogrsed Ssin By, Hse argrgin ‘R Hdam H 82558 tHeasin ‘N’ e@owd, Tgossn

oés ?
R ~ R . n-1
] — = — = — = —
() r=r () £=3 ey = (4) f="o
72 What is lens maker's formula ?
S8 S0rd HadEGH Jabes ?
~ 1 1 1L o 1L 1
M=(11—1)(R—I+EJ ' 2) —f——(n U(R] R_)
] ] 1 1 1 1
—=( +l)(—+——) 4 —=(n+l)(———j
3) ¥ R, R, 4 T R, R,
73 The focal length of a lens depends on
; (1) Radius of curvature (2) Refractive index of the lens
; )}) (1) and (2) (4) None of the above
|
| Ser8tn Bk T80 BID GEEGD.
I
g
| (1) Hgee argrgin (2) seasin @ngy HB8a5sd g

| (3) (1) 6ot (2) (4) 98 soch
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76

77

78

(}y" Convex mirror (2) Concave mirror

Ihe size of the image formed by a convex mirror is always

(1) Enlarged Diminished /
(3) Double size of the object (4) None

0258 (8w SIS (HBDo2) DO DDPE

('h £)8 Bodde (2) 256

(3) %P goBBGoxy ° (4) 28 s2¢%

The spherical mirror whose reflecting surface curved outward is

(3) Plan¢ mirror (4) None

D FPrs8 S5 i 06 DS e L S BYDH Gotwod ?
(1 ), $0S5 65660 (2) Herss $6ymin
(3) D& 80w ' (4) 8 s

E\cn lens has focal points.
(S So8Hd% Teghevotrown.
e (2) 4 . (3)6 (4) 8

vex lens is placed in water, it's focal length

| increases (2) decreases .(3') does not change (4) none of the above 4
Dorrws Sostn St GODRIPE & Tgrgostin
(1) 2% (2) & (3) srses (4) 23 g

The type of mirror used in solar cooker is

Y~ Concave (2) Convex
(3) Concave and convex (4) None
Ferd 0 6 o adArhoSy B8N
(1) Derss | (2) Yoprsoss
(33):: DErsTE o K0S Y 4) b s

SPACE FOR ROUGH WORK / W& 8 BeranoSndd e



[ minimum distance of an object from the pole to obtain real image in cast of a

concine Mirror 1s

ero 380 D0H0S® ez |HSDoN0 Dwaéaoé W@g) oy

»-()

L0 O D0 & Brdod”

¢ OST'?) ?

(| /}_’{2}3 (3) 0 (4) F/2

e value of radius of

g the focal length ob-a spherical mirror is 10 cm, what is th

curyatuare ? >
(1) 10em 1 20 cm (3) 30 cm (4) Nonc
g 8 Ba¥y Tagossin 10 Bo.d. eow 5, Hgee TgRrgam 208 ?

(1) 10 20.. (2) 20 20.%. (3) 30 2o.. (4) b =&
¢t Which ol the following is the formula for magnification in case of spherical mirror ”
Boars 800E0S" EHINHE Km0 A6 ?

vV -U

. {
\ . §]
UNY ey O v 4 ~

Y

§2  Parallel beam of Iight,éﬁer passing through a convex lens pass through a point called
(1) Pole (2) Centre of curvature
(3T ocus (4) None of the above

LAF OB SO D)0 &ozrses SEM HoT® [oxee8oRd S&HS 9 Dot o JFYD ?
(2) Yz Solsdmo

(1) ¢y
(3) =8 il 4) 2 =Y
-
3 Multimeter can be used’to measure |
(1) current (2) voltage (3) resistance all of the above
28O L0b B &HBrHoD 5:023; Fed HS)- ‘ /(A/)/
(1) desogdh () S 3) SR (4) 33500

8 Which of the following relation represents Ohm's law ?
53 BB @ HOOGID b K)oi)éaé:o}ﬁ) 08 ?

| { 1
(1y v - | b-) Vocl (3) v=I (4) pP=VI
SOACT, FOR ROUGH WORK / 9¢ 508 Seranodiass fois
?
{




K

]

86

89

90

5088 S8 Tesgostin B taning drtse

A person s advised to use 5D lens. What is its focal length ?
(1) 50 ¢m (2) 5 cm (3) 2 cm 20 ¢m
SERNERIND éé.)svf()'l TEod rPU0SAND. ord T30S Jod ?

(1) 50 208y, (2) 5 20, (3) 2 2o.d. (4) 20 20..

ST unit of resistivity is
WY sty gy SI et

() Q (2) Q-m 3) Q-m’ 4) Qm™

Focal length of the eye lens changes with the help of
(1) Pupil

(2) Aqueous humour
(3) Ciliary muscle (4) Optical nerve

&.

(1) g0 (2) J& s (5o

(3) 000 Sosso (4) 88 =8

Direction of electric current and direction of electrons in a conductor are

(1) Same direction (2) Perpendicular to each other
)})’”’Opposite to each other (4) None of the above

28 TSNS S8 [Hardr 4, JOS9e BF i ASorr dotraw.

(1) 28 &% (2) a8 d5EE8 ex0morr

(3) %583 63 (4) 3 Nowd s

Obstruction to the motion of electrons in a copductor is called

(1) Conductivity (2) Resistance é)’)/;esistivity (4) None of'the abo
TSNS OFIDe BoTIS LN ©tosd) Ber woirs.

(1) >ssdgmn (2) 285w (3) 3G Atessno (4) 3D 506

The defect by which some people can not see near objects clearly but can see dists

objeetS is called

Myopia (2) Cataract (3) Presbyopia (4) Hypermetropia

Frodth dsm &) KpHow B SrEBh 5 drdor &) Fded drdto. S &St

Qe WO,

(1) g ey (2) %o Hzren (3) Wergdim 4) 6g Sy

POLYCI 1220
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SECTION — C : CHEMISTRY (6370009 T2

01 which of the following is a non metal ?

1Bo® 583 @S0 DO ?

(1) Pb (2) Sn 3) K 4) S
n of crude metal ?

gy Which of the following process is used for the purificatio
4) Froth flotation

(1) Roast1ng (2) Poling Calcination

808 T3S° SEHBS SHBrHOB HOS 26 ?
(1) 5890 (2) 9ok (3) eS80 (4) &% B

93  Which one oi the tollowing metal occurs in the native form ?

 (80d a°¢3@$ (£08)8S° e Do ozigalg 870
pz)/ Au ) Ca 3) Mg (4) Na

i 94 The m(.)re reactive metal in the activity series is
% (b Potassium (2) Tron 3) Zine ~ (4) Platinum
e SorgRos @S" 008 SorgBed o SO

{ (1) arertono (2) m (3) aos (4) oo
mtf % The cafbonate ore among the following is
. " (1) Bauxite Magnes1te (3) Haematite (4) Carnalite
-] \‘ Bod wre3&® 58 )5 o) DO ? |

(1) wrays @) wHEs () s (4) 56,96

SPACE FOR ROUGH WORK / DS S8 SeranoBadd Heow
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; Ing.
, the follow1
96 ldentifv an acidic flux among

Bosod.
808 T&S° wipdgerwo (1O 595°09 (HBO

4) CaCoO
/ Si0 (2) CaO (3) MgO A ( ) 3
) Si > 2

i ?
i i iolating Hund's rule *
97  Which of the following electronic configuration violating

v, 5 ”
808 838" 0B JVHPA) GOORWOT JOTIS DTFW B

W ) ] @Iyt
2s 2p 2 2p
25 2p 2s 2p

98 The classification of ¢lements which is based on atomic number is

(1) Dobereiner's law of Triads (2) Newland's law of octaves
/w’)/ Modern periodic table (4) Mandeleeff's periodic table

DEErED Q0D D WETEHAS Qarersee, éégcssa 28 ?

(1) orabdsb (D8 ?\)Cg”oéél) (2) EﬁJ‘SU”OE‘) (Y :)Qﬁé.)éb

(3) @8 wisss 238 (4) B0osdS sy 3

99

100

(1) Cosmic vy (2 X-rays Q) v ray rige(;lency“?;
e Veorays adio
406 wAS6AN 08 J8deredt A ©OS FEYeg0 50 Sodnoa 2 e
oQ 7
(1) 52§ 8deren (2) X-Boeng,, (3) Uv 86egn
) Q)

(4) daa@» 8Sorrey,

& H08 éa‘%oﬁ&égﬁ ,
= DO
P




(0! Order O sy UL OTDIAlsS
0Yerg 8 (800
(1) 3s>3p>3d>4s 2) 3g<3p<3d<4s
(3) 3s>3p>4s>3d (4) 35<3p<4s<3d

102 The total number of atomic orbitals in third shell of an atom

2,8 $E85PE0 St QD §88° &od w0 )erey Vowg

(1 2) 3 » (3) 9 /(4{18

103 Which is the least electronegative element among the following ?
(1) Lithium (2) Carbon «3) Nitrogen (4) Fluorine
B0 eI S0 e WSEEEES (o oL 26 ?

(1) O8aso @ 568 (3) PSS (4) 305

104 4f elements are called as

(W Transition elements (2) Alkaline earth metals

(3) Actinoids (4) Lanthanoids

i arosod O AforT mgo&?
(1) 508 Saresten Q) 36 w38 Sifer

3) etmang (4) erograng

& The element which belongs t0 3rd period and 14™ group in Modern periodic table
(1) Aluminium  (2) Silicon Phosphorous  (4) Sulphur
WS i sesh 3 HBaNE HOAM 145 (ArRIVH DoBRevI0e Huredin

1) Voreh oo (2) DS (3) FD‘K)QGS 4) d036

S~

I
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- s nucleus 1s
106 The orbital with more penetration power towards
S D6 ?
Solssin Ty T A wearsin oy dm 65) >

4 4) 4s
(1) 4d (2) 4f 43) 4p @

107 The electronic configuration of an element is 2, 8,‘?6. Which one of the followiy,
element is chemically similar to the above element *

/ :
(1) Nitrogen (2) Oxygen (3) Phosphorous 4 Chlorine
DOFIS g0 2, 8, 6 OAS a8 wurerso, (806 DY @) Lre¥od SranISorr D dotnos I

(1) P (2) 8yas (3) 68 (4) o5

108 Which of the following pair of atomic numbers indicates the s-block elements ?

106 TES° Q) e3¢ HSEre Nowgen $-20%H DresPeR e dRpan ?

(1) 5,6 (2) 9, 10 3) 11, 12 A4 7,8

109 Identify the salt in the following,

808 36" ©¥D HBOS0A,

~1) NaCl (2) NaOH (3) HCI (4) HCN

110 Solution with pH less than 7 is

(1) Sodium chloride solution

(2) Sodium hydroxide solution
B«)/Acetic acid solution

(4) Slaked lime
PH de08 7 519 828 0 |crensyy

(1) Faavo B8 (asmin (2) Faaso a6 et
(3) RS ety (orieaitan (4) 48 ooy

SPACE FOR ROUGH WORK / 9 8 Seronoseds o
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( In endothermic reaction, heat is

(1) released (2) not changes (3) absorbed (4) all of the above
SIS SEGS” S |

1

(1) b (2) sy dodch  (3) (Rroswbn  (4) R0WD

(12 One mole of Propane (C3H8) on combustion given ‘x” kilo joules at STP. Heat'liberated

by the combustion of 11.2 litres of Propane at STP in kilo joules is

28 IS @55 (C3Hg) STPisgs esirso Aaxstopeto X' 86° 6y mpod. STP 0 11.2 deg S &
0 BRI Ao aiw 86 &) o

(1) x @ 3 (3) 112 x ) 2%

113 A Na+BH,O — C NaOH + DH,, in this equation the values of A, B, C and D are

A Na+BH20—9CNaOH+DH2@:-3 o &smans® A, B, C ©daw D devden

(1) A=1, B=1, C=2, D=1 rA=2, B=2, C=2, D=1
(3) A=1, B=1, C=1, D=1 (4) A=2, B=1, C=2, D=1

114 Compound formed when excess CO, is passed through lime water

(1) Ca(OH), /0)/CaCO3 () Ca0 (4) Ca(HCO;),

o

115 Mixing acid to water 1S
(1) exothermic reaction

Wulralis‘alion (4) none of the above
D3 ey BoDB0

(2) endothermic reaction

(2) e sog

(1) aayarss 368
(4) 3 =P

(3) éa%;écsm@o

SPACE FOR ROUGH WORK / & 38 S&ranosads RO



116 Bleaching Powder iy formed from
. . 3 AP . ( ‘
(1) Slaked lime + 11C] (7) Slaked lime + ()
(3) Quick lime 1 HC (4) Ouick lime + Oy,

DDA B HSvod Ddocﬁo&)oa.

(1) 88 wdy0 + HCI (2) @6 »ivyo+ (1,
(3) 28 2dy0 + HC| (4) @ra vioyo + (( ),

17 Maximum number of clectrons present in an orbital of atom iy

DEE) By wd S & god doBaH (07 omg
A 8 2) 6 (3) 10 (4) 2

118 Bases can give ions in water,

S soomer GOUrHD B,
g (2) O™ (3) Hy0! (4) Ol

119 Colour of anhydrous CuS0, is

(1) White (2) Blue (3) Green
Shue)) CUSO4 Soth

(4) Yellow

(1) Bengy (2) deo

(3) VDS

120 Washing Soda is used in —
(1) Glass, Paper Industry (2) Manufacture of borax

(3) Cleaning agent for domestic purpose (4’ All of the above

T8 Ve gocesd SIABPAPE.

(1) o, sne sos0et (2) 0§ sasmbed

(3) efyisiore g0 808 D@ods v | (4) 20y a0
W
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SECTION = D : BIOLOGY (i)

121 Total amount of urine excreted per day by humans is about Jitres
¥ vy IS R

syt Berty Ll Yess torieety, i
[y 1.0 -1.2 e T T R

(1) (2) 1.2 - 1.4 (3) 1.4 - 1.6 )A%.F) - 1.8
122 /\ssunllu)l,ory powers formed in the photochemical phase of photosynthesis are

(1) ADP and ATP 2] ADP and NADP

(3) ATP and NADPI] (4) NADP and NADPH

Bomeiitg 0BrH(BoNE") Brob st 4t D6 YD Hinbtm 4EBET

(1) ADP &80ty ATP (2) ADP 40> NADP

(3) ATP fw8ox NADPH (4) NADP @oos; NADPH
123 The_sccondary I.'uncti()n of lungs to carry out excretion is

o) l(cun()Yal of .C()z and Water (2) Elimination of Sebum

(3) Urca formation (4) Excretion of excess salts

B2BB& wEHom B g (HBa IEHT
(1) CO, 28050 W 0t Hode (2) %es0 B0y Aryos
(3) a%rdarr $oxrd (4) ©bs odare FKEH

124 Identify the correct photosynthetic equation. |

. Light ;
4 - o
(1) o ()2 { ”2() Chiorophyll CHZO + HZO + 6()2

<

O Light < 7

. Light . L

. Light . (%
%()( ()2+]2HZO ’(W C6H|206+6H2()+602
o0 BB B ECErd) (HBoS0s.

, 5°08 .
(1) 6CO,+H,0 ———————————’;)Wméo CH,0 + H,0 + 60,

. 8 08 -
(2) CO,+2H,0 ~Hiambdo CH,0+2H,0+0,
w8 __, ¢.H,,0
(3) 6C0O,+6H,0 T Hazos0 6Hi20g + 6H,0 + 60,
. 808 \ ¢
(4) 6C0,+12H,0 ~ Gigmodo CgHi;0 +6H,0 + 60,

B8O 2208 Hoasrts (B
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125

126

127

128

functions as filtration unit. ulus
J)A}lomkr”
(I) Bowman's capsule

(3) Loop of Henl (4) Renal tbule
oop of Henle

SIS (Bareore 26 AsgirR0d.

(1) 25 > (2) sy 3 w08 050
TS 59
g
(3) ==H ééso (4) 5% @
The latex of plant is the source of biodiesel. /
= - )
(1) Sapota (2) Chicle (3) Hevea

—— W&y 388 908 2@rdaS © dotrd By

Jatropa

(1) ter (2) 28 (3) ot (4) et

Each human body cell contajng

of Autosomes.
(1) 20 Pairs (2) 23 Pairs @7 22 Pairs (4) 24 Pairs
D $006° Ny ade by S nen (&P s0en) oemay, 2
(1) 20 2o 2) 23 mse (3) 22 mager (4) 24 mgen

ucture byt perform similar fype

X2

(1) Homolo Ous organs N
g g ) Analogoyg organs

3) Vestigial
3) gial organg (4) None of the

tions are calle

| above
V0" 806° Seyrye %08, a,ﬁdép_)é ) WeB0 OdAarerng,

= V0oL,
(1) :);;a&w TDg osaaey g - (2) (Saeey,
(3) SRPSarey, e

rD 1\



129 Differences in character within closely

130

132

as related groups of organisms is referred to

(1) genes 2) variati
(2) variations (3Y°(1) and (2) (4) None of the above
836 202060 o Wardfoh Boss dhe Wi fo ogmres® eod Hored ©0trd).

(1) =dogden (2) Nergen (3) (1) ®8a (2) (4) T =R

A cross between a round, green seeded pea-plant (RRyy) and a wrinkled yellow seeded
pea-plant (rrY'Y), the seeds produced in F, generation are

(1) Wrinkled and Yellow (2) Wrinkled and Green

(3) Round and Yellow ) Round and Green

o8 B0 BB AT (o 2o W8 (RRyy) dwdéen DA KR ddTren do

8 & (YY) sostem acdm, I'j8do Moot Ten (o BE O JEHDHROB.

(1) Soodhrsen DA HY (2) dwthden B BHIS)

In F, generation. the genotypic ratio of monohybrid cross is

[, $60s®, DF Ho8de esdogdrd WYE ___——

(1) 9:3:3:1 A8 311 (3) 1:2:1 (4) 3:1:3:9

Omnis cellula € cellula, or cells arise from pre-existing cells was
1rase =

The pl
VUC{ by 3) Lamarck (4) None of the ab
2) Virchow (3) Lamarc one of the above
) Mendel (=
g 5 ol sl ad s ppEon (62)3 2038 @ Degd) ©B groeed) K6
egren &0
(8 BoT & ? -
(3) erarb) (4) 2 =
(2) B°y E
(1) Dodsd
gpACE FOR ROUGH WORK /08 508 Beranouswdd doin
27 [ PT.O.
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.r is called
. * the same flower
133 Transfer of pollen grains from anther to stigma of the

(1) Cross pollination /(42{36”‘ PO”‘T‘a“OH

(3) Hydrophily (4) Anemophily e
5005 S0 008 2070 Bevhen ©B Piyo TNy Sor(rd) BOED

(1) %8 Do doxsy.0 (2) sy do°f rooédz,o

(3) 2o HorK HoS)0 (4) o Hoers HoXSY0

134 Growth of a Plant in response to a light stimulus is known as

. § b
(1) Geotropism (2) Hydrotropism ,@3’)/ Phototropism  (4) None of the above

WL e 57088 v reoT odoHLD ®oerd ?
(1) woegussso  (2) & obssto (3) w08 vttt (4) T Y
135 Plants which undergo the vegetative reproduction through roots
W1 Colacasia and Ginger (2) Murraya, Guava and Millingtonia
(3) Bryophyllum and Scilla (4) None of the above
3 argoe FHaw D588 22HYHD W& 0% smrdrdmen
(1) sedtarr mBatk wgo (2) Bogatr, e wbasy YR e Dok
(3) RS wBan e @) Wy

136 The fluids secreted from seminal vesicles,
called seminal plasma. The seminal plas
(1) Plasma

prostate gland and Cow
ma along with sperm

(3) Placenta

per's gland collectively
is called

.
—_—

(4) None of the above
BErirgen a8 Fd (&80, Ty (odPraren, %45 (¢on Rroron o2

DS 5}#; DB B8 Serod 82
(1) gar,

Semen

VWS P 3 ©OLr.
0.

POLYCET-2022—B ] 28
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37— controls the Movemeyy |,

( Epiglottis ) Ph f food and air towards their respective passages.
) arynx B
’ (3) Nasal cavity (4) Trachcea
GFoe) WO TOY &g, & Ao erest 30856, N
S 0 0(BOB.
( ?) s (3) =98 Lo (4) amao

18 Muscular tissue present gt the floor

Bronchi D
(1) /@-)) Diaphragm (3) Trachea (4) Alveoli
68:HTE BDD ot god SodtansRg des,

f the chest cavity is

_ 0. ‘
(1) gdorere @) dras o (3 58553 (4) Totffwen
139 ye absence of oxygen, glucose is converted to ethanol in
) Plants (2) Animals (3) Yeast (4) Lactobacillus
8828 ©e0ose HYos® 8L a8oeS S SrSH&08.

(1) e (2) 08Hen (3) &3

(4) @?ar?oem)ﬁ

140 During cellular respiration, energy is stored in cell organelle.
(I) Golgi complex (%/Mitochondria (3) Nucleus (4) None of'the above

8% T8 207 Hoonos® #8 ) Seroros® JegBan w0

(1) ™ %080 (2) p&so@otr  (3) Bosso @) W=y

a_

141

is a vital link between blood and tissues by which essential substances pass
from blood to cells and exeretory products from cells to blood.

¥ Lymph (2) Heart (3) Arteries (4) Veins

850 wod Ahsred |(frod SwroH ®oboddo, Swrolod Hyer o“oovg"@zfn EBOD), 8506°28
36340 erots seorget> Fh S5 e 80D HErEDS 8o o3 ?

(1) shus00 (2) o (3) e (4) 8w

SPACE FOR ROUGH WORK / 2& %98 $éronoseds dodn
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142

143

144

145

| in 1601.
Blood capillaries were discovered by —— illiam Harvey

(1) Marcello Malphigi }(; | Rene [ aennec
(3) Girolamo Fabrici
1661 & 68 S5 080D LB ) - -
(1) &8ys® ardy2 (2) 2Dabo O3
| (4) Bd T8

(3) peoRr O

protects the heart from shocks.

i ial fluid
(1) Pericardial membranes Pericardia

(3) Auricles (4) Ventricles
tHoBD eirsre Hod S S08.

(1) #)Satrssem Sgaren (2) sryBotrite (¢550
(3) Soser (4) w638

In trees, removal of pfevents transportation of food.
(1) Phloem /5) Xylem (3) Xylem vessels (4) None of the abov

Bes® ) EFONOVIPL &S Sareen J* B0 08 ?

(1) %8 Seemerno (2) =y 3 DY) Twrey (4) 3)338"@

Serves as a.shock-absorbing medium an
shocks/jerks along with the meninges and crariium

d protects the brajp against

1) L
53; lemzh /@{ Cerebrospina] fluid
) Bloo
X (4) None of the above
é t 's
O, Aozt o g2, DEGOD gy

_ ' WPEO od S 06,

(1) &5 )
é)s) /,

o) e XY DeHeso



V

146 Which part of the brain controls the emotions ?

(1) Cerebrum | (2) Diencephalon
(3) Mid brain ' 4y Cerebellum

DS By @ o PraraEreD JoVoBod ?

(1) yo | (2) orgs ﬁsgo
3) g DS (4) eY.0 (BDO)

147 The mode of nutrition in Paramoecium is

(1) Ingestion (2) Absorption _AY) Parasitic (4) Saprophytic
F o> DROD0S® Vs Desorr 235 H&E 0.
(1) @088 |(ireo (2) e (3) Hoed) Bddo (4) Hrds=*so

148 External fertilization is observed in

(1) Monkeys (2) Humans [({) Fish (4) All of the above
sy Hobd8sm0 S° 2250 S08. )
(1) e 2) s () Se (4) 259y

1499  are fat soluble vitamins.

FHIS® 08 MV A ?
(1) B&C @2 A &C G)B&D (4 A&D

150 The structural and functional unit of nervous system is
}J)”Neuron (2) Nephron (3) Osteocytes (4)
& DgH By doeyegedy 8 Ewdavy (Bowrdy§ [Ereo

None of the above

(1) =& Swo (2) S (3) SRR 3E en (4) 3 =P
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